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BIOLOGY
( Kannada and English Versions )
Time : 3 Hours 15 Minutes ] [ Max. Marks : 90

( Kannada Version )

Hpeddnes : 1) On8An 3 Ponnesy, MOTAT BINTTY, WRA.
il)  PINNYSy, MITOERT WPNIN LOINSTY, ATBSMIRQ)..

22 7555
won -1 —( a)ué%u@)
QTN - A
83 3PNT [Z RPN T, 8BR0TBR, WOTD BT BP0 LoD wBRE), W80 :5x1=5

[w—

“R0ETYTT) OTTERD 7
‘TS, 2337 ( Solute potential ) BTy &9,879,Q3.

‘289,083°” ( Explant ) 0m3desd ?

Ll

TRTT0LT08003€) T3 ( Extrastellar ) £,8003 SFEFT2 ©OMI0BE, 20030 YVTIHT
BRG.

5. ‘RrewddeRn® ( Solarization ) Q0mdesy ?

gon -B

8 FINT FZNEYE, BRRTIRTL W JBNENR T@3e0TER, 2 00T 5 FNRYE),
03,0 5x2=10

6. B0p003E% (Collenchyma ) ¥0rm03a 03RTYTITIETRL T, T20RENETY, WICAW0.

7. A3

., ©0M03 FACDE), TPeRF R0Gw0wmsy, ( Nutrient medium ) 3035072
LT3R &e30e) TAR0RAE L0zmeon ( Components ) RETY LT0WD.

8. 00R, DRWEI ABRLFT TA,NLOTTER 7 ABRTYTIIRTL DTE YVTIBTBRETY, TRR.
9. BQ.OF%.Q. RS0, 0307MeTN TN C30YTIRTR T, $69,METY TR0,

10. ®0®NE, I3, FLewdR ( Gaseous phytohormone ) .00 NEIRTH FoE.

QRTOOT FF,NY RSN 30T TIRETL RTRED BOFTIRINGTY, E9A.

11. 2,4,5-T 03, Q3,08 3032, BT e300, S030TY, LWT0WD.
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12.

13.

14.
15.
16.
17.

II.

gon -C
85 BYNT CRPYTTTR Ty, JFNRIR TBRoTER, wTF AT E 200 - 250
TANLE), W3WD : 4x5=20

‘BR.e030" ( Phloem ) & o073 209303 0Tl 28ZTWSY WRY, FNNENy, MddeR,
HTOA.

‘T 00808’ ( Translation ) &8y &9,509,RR. TP RO eRBOD
9, To0BTEITSY, T TOE DGIORTSY, WXOA.

[oBwado B0ZLHSTE), YOBCIRENTIT LOTBTLINE i, 03, 7N DTWOA.

BZVOFT BOTBONTY, JLRFER 1T WO DLIRTD AT 03TROQN DT[OR.

T, 135,8-FoF,0DeTTLAT SREWTIT, FBARZ 5T, WICWD.

a) ‘o0 BeSdRe3ned’ (Stem cells ) Q0T3eD ? 2
b) AUG 03 &8508e33 200000, &30 0353038 83, R0e 5333 w833, ARAI,T 7 2

c) ‘83T ©8,’03 R03 eRBDE), 883, BewsdredwaN ( Host cell ) vdBc3penzdas

WOT 233, 8 ORI, BAOA. 1
gon -D
83 39N BB NYE), C30YTRETR wWowd JF R Y08 0 ¢ 1x5=5

18. EMP ITT 0SRETINT, F)BAHE,:8Y, WD,
19. 83 3ISAIRYNON 3060 3R 5x1=5
a)  SCID Spennied 3eD0T 32 ART, BesTardnie ARe03R0T WFL,T.
b) 2009 T ¥&8 R1RY T RJPT,FOWR AR, ME AN To03NT, 3.
c) FPMOTE, RTT LRNLINSTY, VOV 08, 0,00 BR 3503 3.
d) ORRTE ST[YLBT, TANFT® QOB BTSN, T.
e) 3BEONT RQ BS 2,00 SNTE 3.
(03008 BB,ZRT B3N I0S, )
85 3PN 030R)TITETR Womd TB 1t Y08 0R : 1x5=5

20. 3RE ¢ Q09 IR, Xe0Z OB, A0 FANNYEY, MOTOSAT &0
233,33y, LWTOWD.

21. a) FNT WerSedI APT FRRNTE, LBeBrRIQ TR FA,NG ‘WearZo3y’
( Pigments ) N¥Ty SI0A. 2

b)  Bx,03 LTMILT ToPE 0T LSRR, WRA, LTNNYTy MOS8, 2
c) 3peTees, 3R BT FO3RNT WITI, T[T 7 1



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.
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3on -1 — ( &830%, )

gon -E
83 39NT [B RPN T @BR0TBR, WOTD BTW P WORD 3398,3E), W80 Hx1=5

o307, BN ((Alleles ) Q0TTeRD ?

TWNDTIT BATITN WAL SRR ?

‘8@5°” ( Chyme ) &, 359,579,3.

29,38.0e3TE) TS Fo03ER0WOFT 38 ( Functional unit ) =3, IROA.

T 28" Brderndondesd ?

gon -F
85 3UAT JB,NYE), CINTTETR VT FB,NYR 2 00T 5 BRAYE), B0 :
5x2=10

TRT,T QNG T3, M0RNEE) 0% BewTe B, BST0RNETy, Tel, TRE.
2263 25,003,305 GRTRTETL SOE> ST, 94,

TP AT BRO3R, BNEXT BRR)TIETL HTEY B0ZNYT, TIOA.

TR B3I FORoNE), FBRER 0T =3B ( HCl ) BRRYTETR  H08d
TIZNYY, &9R.

BTYeR IS ( Spermiogenesis ) HOTTEY 7 83 0N, ITWOINT 03REYTTITITR
NTREY WRSUTBAYTY, LTOW0.

ABRBORIE (WRTR,R,T) T3NS, L3N0,
TN -G

85 BYNT CRPYTTTR Ty, [FNRIR BBEeomER, eTF AR E 200 - 250
TENLE), W3WD : 4x5=20

%,808, BNer3os 2033 ( Law of independent assortment ) @83, 2,030 Z0R,0030
YOTTIDTBCIRORN QTR

WY T RTBY Q0TTER 7 R[OY T R0TZ,BONE), Be@TF,E, ROWOHAT CINEYTIITETH
TR, QTIINETY, NOA.
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35.

36.

37.

38.

II.

TR, YOTYT §0303TY, TOA.
a) B-90zpeRe® ( B-lymphocytes ) 1 08,88y 3208 708, 200N Q0A. 2

b)  T5E ATReFT ( Active immunity ) I, &y, 03 VR ( Passive
immunity ) ¢ SEQT BRR)TIETR QTR 3,89, ANPTY, WICW0. 2

c)  083TFTY, ( Interferons ) 0T3Sy ? 1

9ROFBZ 8 =030 ( Negative feedback ) 0300833 Q0T3esd 7 @020,
08,36 03 A8,0030 Fm3000:35y, V0V0ZIANTE), 0By, 303, H0ereeededs Ropne
BRIy, @OA.

‘09030’ ( Placenta ) ©RY, W09, ROIINAT  BRRTITTR T3,
FORETERY, DROA.

Qgon -H
83 39N BB NS, C30YTRTR wowd BF R w08 0 ¢ 1x5=5

39. B¥TYTO00 ( Spinal cord ) T AePBON ©OTET WSITY VR, WNNSTY,
TR, WOA.

40. a) O TR ( Cyanosis ) AT WFE 3T, OB Ta069 3RR. 2

b)  73E AOI0ZD QOTTERY 7 RS AOI0ZLTE), BZORORNT 0330eYTINETR
DT 3 ,0S8,23e37° (WORRAVAIT ) DEISNPT, TROA. 2

c) ‘Bpee0®s® (Holandric ) emdnieomdesy ? 1
(=,ed0enE T3 3R X3 N 8RS, )
85 3PN 30)TIRETR wWomd TB 1t Y08 0R : 1x5=5

41. ‘oI $98e® ( Graafian follicle ) 8 RALTY, MXTBAT LoBTIT
13832, WO, DHOR.

42. a)  Tesleodd FY 03 F[oB, T/TOR F,030 RPN SBIOT 0330eYTTTTR DTHED
T893, 8 &3, 39, ANTTY, WI0WD. 2

b) 030 R003ReRT ®OMIO3T ( Areolar connective tissue ) W[,
WERAR, PNNYT), NOTIER. 2

c)  @pee,edTT) ( Volkmann's ) So8nieh o€, 30w0008,:8 7 1
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( English Version )

Instructions :
i) Draw diagrams wherever necessary.

ii) Unlabelled diagrams will not carry any marks.

PART I — ( BOTANY)

SECTION - A

Answer the following questions in one word or in one sentence each :

5x1=5
1. What are introns ?
2. Define solute potential.
3. What is explant ?
4. Give an example for extrastellar secondary meristem.
5. What is solarization ?
SECTION - B
Answer any five of the following in 2 to 5 sentences each : 5x2=10
6. Write any four functions of collenchyma tissue.
7. Write the major chemical components of plant tissue culture nutrient
medium.
8. What are antitransparents ? Give any two examples.
9. Name any four enzymes involved in DNA replication.
10. Give an example for gaseous phytohormone. Mention any two of its effects
on plants.
11. Expand the abbreviation 2, 4, 5 — T and write its importance.

[ Turn over



Code No. 36

{ PAGE }

SECTION -C

Answer any four of the following in about 200 to 250 words each wherever

applicable : 4x5=20
12. With a neat labelled diagram describe V.S. of phloem.
13. Define translation. Explain the process of translation in protein synthesis.
14. Briefly explain the tools used in genetic engineering.
15. Describe Steward's starch hydrolysis theory of stomatal movement.
16. Write the schematic representation of non-cyclic photophosphorylation.
17. a) What are stem cells ? List any two applications of stem cells. 2
b) Write the anticodon of AUG and name the amino acid coded by this.
2
c) Name a bacterium used as host cell in the synthesis of golden rice. 1
SECTION - D
I.  Answer any one of the following : 1x5=5
18. Write the schematic representation of EMP pathway.
19. Give reasons for the following : 5x1=5
a) SCID patients suffer from recurrent microbial infection
b) Overmanuring without water causes wilting and death of plants
c) It is difficult to open and close wooden doors during rainy
season.
d) Abscissic acid is known as dormin.
e) RQ value of carbohydrates is one.
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( Questions only from the Practical syllabus )

II. Answer any one of the following : 1x5=5
20. Sketch and label T.S. of a typical young dicot root showing
anatomical details.
21. a) Name the plant pigments separated in paper chromatography
experiment. 2
b) Sketch and label Kuhne's fermentation tube. 2
c) What is the significance of cobalt chloride experiment ? 1
PART II — ( ZOOLOGY )
SECTION - E
Answer the following questions in one word or one sentence each : 5x1=5
22. What are alleles ?
23. Which is the major greenhouse gas ?
24. Define chyme.
25. Name the functional unit of lungs.
26. What are endemic species ?

SECTION - F

Answer any five of the following in about 2 to 5 sentences each :

27.

28.

29.

30.

31.

32.

5x2=10

List the antigens and antibodies of different blood groups in man.

Mention any two benefits of biodiversity.

Name two techniques of rain water harvesting.

Write any two roles of HCI in human digestion.

What is spermiogenesis ? Write any two changes that occur during the

Process.

Write the functions of cerebellum.
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SECTION - G

Answer any four of the following in about 200 to 250 words each wherever

applicable : 4x5=20
33. Explain the 'law of independent assortment' with a classical example.
34. What is soil erosion ? Explain any four biological methods of soil
conservation.
35. Explain the physiology of urine formation.
36. a) Give a brief note on the role of B-lymphocytes. 2
b) Mention any two differences between active immunity and passive
immunity. 2
c) What are interferons ? 1
37. What is negative feedback mechanism ? Explain the role of liver and
pancreas in controlling blood sugar level.
38. Define placenta. Explain any four functions of placenta.
SECTION - H
I.  Answer any one of the following : 1x5=5
39. With a neat labelled diagram, explain T.S. of spinal cord.
40. a) Give the meaning and two causes of cyanosis. 2
b) What is contraception ? Name two types of sterilization methods
of birth control. 2
c) What are holandric genes ? 1
( Questions only from the Practical syllabus )
II. Answer any one of the following : 1x5=5

41. With a neat labelled diagram describe the structure of Graafian

follicle.

42. a) Write any two structural differences between striated and

cardiac muscle fibres. 2
b) Sketch and label the structure of areolar connective tissue. 2

c) Where do you find Volkmann's canal ? 1




